EARAROBREBRT —5 XN—ZXBISH—F

20224F88308 (X) 6EIEAITH

LU S5%—#k C37xtE/N\

\(9&1&1 n ‘I%EH?’JFQ] | & 1000 =

[AE%] 1 7% :800,000 M  27&:280,000 M . 337%&:160,000 .~ 43 :120,000H . 5 7&:80,000

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o N ] : -4-4- - BaIIR A
11719 Z2)S5—TI)LH—IU % 6 %51.0 1.(??).1 4-4-4-1 38.9 3 48)6 %EE:
RIN=YITSA4 B II7—H— #HBE77—A
4~ 4 4 | LS 1:33.4 2-2-2-2 [39.5| -— 6 | 462 |JIIKISPE CGATD)
2 7 c—tE>o4 b 540 (11/2) (g |EXE
R:b—tYIT7V L B:hAUZ3vY BREASM IRF«T7—L
~) = t 5 | EEEEE 1:33.6 1-1-1-3 [39.8| -— 7 506 | KAME (A61E)
3055 | PYTIL/ + 5.0 a1/2 © | ® ITF
RIN=VISA B:T#VIRU—FT J=YYTr—L
< sy I : -6-5- - AR GRiFD)
417 8| FIURAI—V2 it 6 o 1.(33:;.2 7-6-5-5 | 39.8 4 (4f38) LhbS
R:D—JT4—RA B:Z—IF KX FAFPUVRANIST
—z o6 | NEIFE 1:34.3 3-3-3-4 | 40.3| - 2 484 | SHIEE (GERD)
E! 2| 2V /YN 56.0 (3/4) 45 |EOES
R:FVh—0 B:ZV/TaA4—U H—RSN—0RIYR
> 6 | SEBED 1:34.4 9-9-7-7 [39.1| — 5 430 |#ELLR CETD)
618/10 193997y 56.0 (172) w3 |EEXE
RN—HANR By LF—I— FUIY NS
~,3) 4 6 | EIDEIZ 1:34.7 6-7-8-9 [39.5| — 10 438 | SEHESE (HED)
78| F*FLYYIIL 54.0 (1172 ) | mEmE
R:ITUA—Y B:7—EYRISVUR N L35
3 — % 5 | PERX 1:34.7 10-10-9-8 |39.1| — 9 | 48 |/IISE CEAD)
2 3 EX Dt *50.0 ) Ga) | T7—zrEYaY
Rib—BYKILURY B:UFPSARFSvo e
.3 S o5 | OlEs 1:34.7 8-8-10-10 | 39.1| — 1 479 | B (oK)
9111 |EYIR 56.0 1) o) %Iﬂ%‘;ﬁﬁ
R:ILFI v ML B:Fa19FR = -
4 | CHERER 1:34.8 5-5-6-6 | 40.2 | — 8 437 | EBBRA GERD)
0l 4| FIXTT14— A B @6 (o |LiEE
RiXT T4 B:TADVRA—b pleskie]
. S~ En] - - - - - A (
R:FIPITRTVR B:bh—tYEUZF« YRFHhIT7—L
@ 1—F—&RIEL
13—7— 5,7,2,9,4,11,8,1,10,3
20—F— 5,7,2,9,4,8,11,1,10,3
30—7— 5,7,2,9,8,4,10,11,3,1
40— — 9.7.5,2,8.4,10,3,11,1
0 ILRE
BB 9 630M4 JA R 7-9 520 % 3E 6-7 680M4 3EE 5-7-9 11,450/
B B 9 1509 5-9 1,440 (=1 7-6 1,830 3EH =75 62,420M
7 240 5-7 2,030 5 & 7-9 1,630
5 440 =51 9-7 3,110

ABIC OV TRUTEREERRODDZE. THRIIZEL.




